Est.1900

¥

Push Broom & Squeegee

HARPER Description: Assembly Instructions

NOTE: Be sure that you have all of the parts before you start to assemble.

PUSH BROOM ASSEMBLY

- Align the Broom Handle (B) connector with the grooves in the
Broom Head (A)

- Securely tighten the Broom Handle to the Broom Block using
Bolt (C).

- Loosely assemble Left Broom Brace (F) and Right Broom Brace
(G) using Bolts (E). Do not tighten all the way.

- Slide the Broom to the Broom Head using Screws (D) and
tighten.

- Finish tightening Bolts (E).

REQUIRED TOOLS
1/2” OPEN END WRENCH
7/16” OPEN END WRENCH

Loosely assemble
Attach handle Broom Brace

_F

- Loosely assemble Left Squeegee Brace (E) and Right Squeegee
Brace (F) using Bolts (C). Do not tighten all the way.

- Slide the Squeegee Brace down the Handle and place the Brace
in the angled slots. Attach the Brace to the Squeegee Head
using 2 Bolts (G).

- Finish tightening Bolts (C).

Part Description
A Squeegee Head
B Squeegee Handle 1
© Bolt, 1/4” —20x 1” 2
D Left Squeegee Brace 1
E Right Squeegee Brace 1
F Bolt, 1/4” — 10 x 1.25" 4

Part Description QarTy.
A Broom Head 1
B Broom Handle 1
C Bolt, 5/16” — 18 x 1-1/4” 1
D Screw, 1/4" —10x 7/8" 2
E Carriage Bolt, 1/4” —20x 1” 2
F Left Broom Brace 1
G Right Broom Brace 1
SQUEEGEE ASSEMBLY
Q REQUIRED TOOLS
7/16” OPEN END WRENCH
- Place the Handle (B) in the center section of the Squeegee
Head (A). Attach the Handle using 2 Bolts (G). Attach Handle Squeegee Brace

Attach Brace Assembled Squeegee

p Cequent Consumer Products, Inc.

((a 29000-2 Aurora Road
Solon, OH 44139

CEQUENT Technical Service: (800)-234-6992

Page1lof1

PART # 12599
Printed in the USA
Rev.A




